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27123 50 = —B BE HY
27124 50 5 £8\h BIE

27125 10 5 £8\h BE

27126 40 5 RAFH BE

21127 50 8 ERHN TL HY
27128 10 = FEBHM BE

27129 20 8 E1=Fii1) BE

27130 40 8 N TL HY
27131 10 5 N TL HY
27132 50 8 Mg BE HY
27133 20 5 N BIE

27134 20 = R ERHT BE HY
27135 40 = It BE HY
27136 10 8 Ira BIE

27137 30 8 Pl BE HY
27138 50 5 HhEN BE

27139 40 8 ookl BIE HY
27140 10 5 ImET™ "L HY
271141 |10k | % ImE™ "L HY
27142 60 £ FHET BIE

27143 70 = [EEEZ:] TL HY
27144 20 8 PN B HY
27145 20 5 KAFth PEAE

27146 80 5 ) hEE

27147 20 8 3L B




